PL-910

28/36*

b——

21

MGW080-20E //ﬁ_

2x DIN912-M3x6

Lx Pk(®i)

2x Senkung
DIN7L-Hm3

3.4

63

344

Bestellnummer Oberteil

G-MEK080-0-4Pk2-1E12
G-MEK080-0-4Pk3-1E12
G-MEK080-0-4Pk4-1E12

G-MEK080-0-4Pk2-1E6-C*
G-MEK080-0-4Pk3-1E6-C*
G-MEK080-0-4Pk4-1E6-C*

Datum Mafstab 11

10.11.2016

Zeichnungsnummer

G-MEK080-0-4P-1E

=@

GrIP

GRIP GmbH Handhabungstechnik




MGW080-2UE

2x DIN912-M3x6

Sy
Iﬂ_llljl—l i

2x Senkung
DIN7L-Hm3

ééy/x\\\ Lx Pk(®i)

15
|

/

3.4

\ [T\
Iwy
\@

63

Bestellnummer Unterteil

344

G-MEK080-U-4Pk2-1E12
G-MEK080-U-4Pk3-1E12
G-MEK080-U-4Pk4-1E12

G-MEK080-U-4Pk2-1E6-C*
G-MEK080-U-4Pk3-1E6-C*
G-MEK080-U-4Pk4-1E6-C*

Datum 10112016 MafBstab 11

Zeichnungsnummer

G-MEK080-U-4P-1E

——GRIP

GRIP GmbH Handhabungstechnik




MGW080-20E //ﬁ_

2x DIN912-M3x6

PL-910

28/36*

217

| W — —

2x Senkung
DIN7L-Hm3

]
I | W——

3.4

63

34.4

Bestellnummer Oberteil

G-MEK080-0-8Pk2-1E12
G-MEK080-0-8Pk3-1E12
G-MEK080-0-8Pk4-1E12

G-MEK080-0-8Pk2-1E6-C*
G-MEK080-0-8Pk3-1E6-C*
G-MEK080-0-8Pk4-1E6-C*

Datum Mafstab 11

10.11.2016

Zeichnungsnummer

(-MEK080-0-8P-1E

=@

GrIP

GRIP GmbH Handhabungstechnik




MGW080-2UE

:

2x DIN912-M3x6

4

9.9

2x Senkung
DIN7L-Hm3

US:imi

$L-910

QQ;\’

S\
%;EE§<£>

15
L

a.

/

3.4

o

o2

@

8x Pk(®i)

O

O

+
63

0]

344

Bestellnummer Unterteil

G-MEK080-U-8Pk2-1E12
G-MEK080-U-8Pk3-1E12
G-MEK080-U-8Pk4-1E12

G-MEK080-U-8Pk2-1E6-C*
G-MEK080-U-8Pk3-1E6-C*
G-MEK080-U-8Pk4-1E6-C*

Datum Mafstab 11

10.11.2016

Zeichnungsnummer

G-MEK080-U-8P-1E

=@

GrIP

GRIP GmbH Handhabungstechnik




